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Instruction : First 15 minutes are allotted for

the candidates to read the

question paper.
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Note :

Answer all questions.
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Select your answer from the options

given below the following questions :

Sx1=35
a) Example of 1st generation language
is
) C 1)) Fortran
ui) Basic 1v) none of these.

b} If xis a two dimensional array, then
x [ 3][4] indicates that x has

i) 3 columns & 4 rows

ii) 4 columns & 3 rows

iiij 34 elements

iv) none of these.
c) What is word processor ?

i) System software

iij Application software

iii) Both (i} & (1)

iv) None of these.
d) Range — 31768 to 32767 is of what
data type ?
iy Int 11)
i) Signed int 1v)

Unsigned int

None of these.
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€) In the 'Coding' step of a program, we

actually do

i) planning i) debugging

i) testing iv) none of these.
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Explain the following in one sentence
each :;  httpywww.upboardonline.com 5x1=95
a) Software

b} Flow chart

¢} Interpreter

d) Object

e) RDBMS.
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Explain the following in brief - 5 x 2 = 10
a)  Function overloading

b)  Pointer

¢y SQL

d) Type of operating svstem

e) HTML tags.
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Differentiate between 'do-while’ &

'for' loops with examples.

OR

3

Explain 'go to’, 'break’ & ‘continue’

statements.
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b)  Explain ‘Muyjtipje
'‘Multileve]

€xamples.

OR

Explain ‘normalization’ with suitable
example. ,
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Write a program in C*+, using function,

to find the highest & lowest number from

the given numbers. 5
OR
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Explain with example as how 'actual’ &
formal' parameters work in a function

call. ' 5
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